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50206 | 1ki% - BRIRE BAKE T C=60cmizL £ 1200m3k % NSy EEA4 5t 10A %Y 1.96 327 3.5922 |t/10%
50207 | kiR - BRIRE BAKE T C=120cmEL E 180cm3k NSy EEA4 5t 10A %Y 4.96 8 27 9.0027 |t/10%
50208 | ki% - BRIRE BAKE T C=180cmEl k 2400m3k NSy EEA4 50 10 4 Y 9.80 16.33 17.9608 |t/107
50301 | i - BHRE MR @ C=60cm3k Ny hEE2 104 24 0.13 0.22 0.1122 |t/10%
50302 | Hi% - BRE MR EE C=60cmizl_E Ny hE A2t 104 24 0. 40 0.67 0. 3400 |t/10%
50303 | Hi% - BHRE MR T C=60cmFK Ny hE A2 104 U 013 0.22 01122 |t/10%
50304 | 1ii% - BIRE MIRIR i C=60cmL | Ny hE A2 104 % 0. 40 0.67 0. 3400 |t/10%
50401 | %iE - BMRE B KR H=150cmk NSy EBA4 5| 1004 &Y 0. 05 0.08 0.0674 |t/1004
50402 | %iE - BMRZ R KR H=1500m120 - 3000m3k NSy EBA4 5| 1004 &Y 0.22 0.37 0.3036 |t/1004
50501 | 14i% - BRI B AR C=60cmFk NSy E A4 5t 10K 4 U 112 1.86 1.3960 |t/104
50502 | 1ii% - BRI EARKIE C=60cmizl_E 120cmk NSy EEA4 5T 104 4 Y 433 7.22 5 4165 |t/10%
50503 | 1ki% - BIR% th A B4R H=150cmk NSy EEA4 5| 100 %Y 0.26 0.43 0.3256 |t/1004
50504 | fRi% - BRI thE KB AR H=1500m120 - 3000m3k Ny EBA4 5| 100 %Y 0.56 0. 94 0.7016 |t/1004
50601 | f%i% - BIBRE HE 451 B4R ) C=60cm>k i = — -

50602 | 1ki% - BIRE R Y] C=60cmizL £ 1200m3k % — — —

50603 | 1i% - BB R Y] 0=120cmEL E 180cmsk i — — —




